No2 =FAH - EfF GtED) ( )HC )E 4

WOFHHEZF L,

1) 12=1 2) 2= 4 3 3= 9
4) 4*= 16 5) 52= 25 6) 6°= 36
(7) 7= 49 ) 8= 64 9 9= 8l
(10) 10*= 100 11) 112= 121

12) 122= 144 (13) 13*= 169

(14) 14°= 196 (15) 15%°= 225

(16) 16°= 256 17) 17°= 289



No2 =FAH - EfF GtED) ( )HC )E 4

TH RO F
(8] ROFERAOx Dlizkd L5, (7L, x REOHET 5, )

1) x*=25 2) x:=7 2) x*=18
x=+/25 x=+/T x=+/18
=9 =4/3%-2
=32

x>0 O, £ EETICEDEDOHATIU,

(3] ko x DfEARD £, (2L, xFEOKET 5, )

(1) x*=9 6) x2=3
=49 x=+3
=3
2) x%=4 7) x2=11
x=+/4 x=+/11
=2
(3) x2=64 8) x2=12
x=4+/64 x=+12
=8 =./2%2-3
=23
4) x%=49 9) x%2=50
x=+/49 x=+/50
—7 =+/5%-2
=52
5) x2=36 (10) x%2=169
x=+/36 x=+/169



